N = 0l & At & Ml A

20199 &= =0 & LS &F

SN ASTAYL
HE: Dh2yacALRe
CHel: IS SAEHEL A2 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AT AN A 9,114,220 6,136,000 2,978,220
s 360,000
Al 8,754,220
OtSaxS A 22| 1,352,000 1,136,000 216,000
s 360,000
Al 992,000
OtS& =S AIEHE LR A 22 1,352,000 1,136,000 216,000
s 360,000
Al 992,000
OIS+ AENE 470,000 400,000 70,000
401 AIEHI L 20 470,000 400,000 70,000
01 A& HI 467,120 397,120 70,000
ODIZSA4+E 2322 AY
200,000,000& *99.28% 198,560
OlSa+E SEACANAH(NSHATEII)
WA 200,000,000& *99.28% 198,560
ONEZ S ZEIA 20,000
Ot 22 Disds =83 44X 50,000
03 A& =TI 2,880 2,880 0
Olisaa: 237 AY
200,000,000& *0.72% 1,440
OlisasE Set2eAM2E(Hs+=AXED])
WA AHS 200,000,000& *0.72% 1,440
o2&+ KA 130,000 130,000 0
201 Lt 130,000 130,000 0
01 At 22l 70,000 66,000 4,000
OLALEZAIE =2 HAH(1000H 2) 70,000
02 =24l 60,000 64,000 A4,000
OAREBxEANE H==24=2, JINM 2L
L HoANIE SHe s 50,000
OLAa2aT A4 BotAd KRz 10,000
A2 & SEFSAIE HSALRNS(EX) 752,000 606,000 146,000
s 360,000
Al 392,000
401 A& HIZ 201 I 752,000 606,000 146,000
s 360,000
Al 392,000
01 A& HI 747,263 602, 183 145,080
OL7AR =5 L=SAE HEMY X
752,000,000& *99.37% 747,263
s 360,000
Al 387,263
03 A& S THHI 4,737 3,817 920
Ol =& =FSAIE HEMY X2 4,737
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